Dihybrid Cross Worksheet

Set up a Punnett Square using the following
information about guinea pigs:

Dominant allele for black fur =B
Recessive allele white fur = b

Dominant allele for rough fur = R
Recessive allele for smooth fur=r

Cross a heterozygous parent (BbRr) with a
heterozygous parent (BbRr)

Using the Punnett Square in question # J 3

What is the probability of producing guinea
pigs with black, rough fur? __ ~ T

Possible genotypes from this cross?

L

What is the probability of producmg guinea
pigs with black, smooth fur? . . "

Possible genotypes from this cross?

What is the probability of producmg guinea
pigs with white, rough fur? .

Pps'sib‘leAgenotypesffrom this cross?

What is the probability of producing guinea
pigs with white, smooth fur?

Possible genoty;':es from this cross?

3.

Set up a Punnett Square using the following
information:

e Dominant allele for tall plants =T

¢ Recessive allele for dwarf plants = t

» Dominant allele for purple flowers = P

¢ Recessive allele for white flowers = p

¢ . Cross a homozygous dominant plant (TTPP)
with a homozygous recessive plant (ttpp)

Using the Punnett Square in question #332

a. What is the probability of producing tall
plants with purple flowers? '

Possib!q genotypes from this cross?

. <

b. What is the probability of producmg dwarf
plants with white flowers?

qusible‘genotypes from this cross?

c. What is the probability of producmg tall
plants with white flowers? __~

Possible genotypes from this cross?

d. What is the probability of producmg dwarf
plantsavith purple flowers? ;

Possible genotypes from this cross?




5. Set up a Punnett Square using the following
information:

e Dominant allele for purple corn kernels = P

* Recessive allele for yellow corn kernels = p

¢ Dominant allele for starchy kernels = S

e Recessive allele for sweet kernels = g

* Cross a plant that is homozygous recessive
for both traits with a plant that is
heterozygous for both traits.

6. Using the Punnett Square in question #5:

a. What is the probability of producing purple,
starchy corn kernels? _

Possible genotypes from this cross?

b. What is the probability of producing yellow,
starchy corn kernels? '

Possible genotypes from this cross?

-
]

c. Whatis the probability of producing purgle,
sweet corn kernels? _

Possible genotypes from this-cross?

d. What s the probability of producing yeliow,
sweat corn kefnels? .

Possible genotypes from this cross?

7. Set up a Punnett Square using the following
information about wolves:

» Dominant allele for normal coat color = N

* Recessive allele black coat color = n

* Dominant allele for Brown eyes = B

» Recessive allele for blue eyes = b

* Cross a wolf thatis heterozygous for both
traits with one that is heterozygous for coat
color, but homozygous recessive for eye
color.

- , =g

8. Using the Punnett Square in question #7:

a. What is the probability of producing a wolf
with 2 normal coat color and brown eyes?

qusi?l_e genotypes from this cross?

b. What is the probability of producing a wolf
with a normal coat color and blue eyes?

Possible genotypes from this cross?

c. What is the probability of producing a wolf
with a black coat and brown eyes?

Possible genotypes from this cross?

d. What is the probability of producing a wolf
with a black coat and blue eyes?

Possible genotypes from this cross?




Dihybrid Cross Worksheet

1. Set up a Punnett Square using the following
information about guinea pigs:

BK

Be
bR

be

Dominant allele for black fur = B
Recessive allele white fur = b

Dominant allele for rough fur = R
Recessive allele for smooth fur=r

Cross a heterozygous parent (BbRr) with a
heterozygous parent (BbRr)
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2. Using the Punnett Square in question # J 3

a.

What is the probability of producing guinea

pigs with black, roughfur? _ 4 /1

Possible genotypes from this cross?

PRRR, ARRr, BLbRR, PuR

What is the probability of producing guinea
pigs with black, smooth fur?

Possible genotypes from this cross?

BBrr. Bb oo

What is the probability of producing guinea
pigs with white, rough fur? _3/1b

Possible genotypes from this cross?

bbRR  LbLRr

What is the probability of producing guinea

pigs with white, smooth fur? _ /1

Possible genotybes from this cross?
bbrr

3 /1L

3. Set up a Punnett Square using the following
information:

Dominant allele for tall plants =T
Recessive allele for dwarf plants =t
Dominant allele for purple flowers = P
Recessive allele for white flowers = p

- Cross a homozygous dominant plant (TTPP)

with a homozygous recessive plant (ttpp)

TP

Tt ?P

4. Using the Punnett Square in question #33

a.

What is the probability of producing tall

plants with purple flowers? _1\» /1o

Possible genotypes from this cross?
L P &

What is the probability of producing dwarf
plants with white flowers? _ 0 /| (o

Possible genotypes from this cross?

S

What is the probability of producing tall

plants with white flowers? _ O/ | (s

Possible genotypes from this cross?

iy,

What is the probability of producing dwarf

plants with purple flowers? _ 0 /|t

Possible genotypes from this cross?

——




3. Set up a Punnett Square using the following
information;

PS
Ps

|O.5

Dominant allele for purple corn kernels = P
Recessive allele for yellow corn kernels = p
Dominant allele for starchy kernels = §
Recessive allele for sweet kernels = s
Cross a plant that is homozygous recessive
for both traits with a plant that is
heterozygous for both traits.

]:S

?PSS

PPSS

PPSS

PPSS

6. Using the Punnett Square in question #5:

a.

What is the probability of producing purple,
starchy corn kemels? _ &5%  (/4)

Possible genotypes from this cross?
’|) p 3 )

What is the probability of producing yellow,
starchy corn kernels? 5%  (1/4

Possible genotypes from this cross?
25

What is the probability of producing purple,
sweet corn kernels? _ 25% (/4

P_%ssible genotypes from this cross?

_L{J $5

d. What is the probability of producing yellow,

sweet corn kernels? 259, (/4

Possible genotypes from this cross?
(oo 5 S5

7. Set up a Punnett Square using the following
information about wolves:

Nb

nb

Dominant allele for normal coat color = N
Recessive allele black coat color = n
Dominant allele for Brown eyes = B
Recessive allele for blue eyes = b

Cross a wolf that is heterozygous for both
traits with one that is heterozygous for coat
color, but homozygous recessive for eye
color.

N B N b nB  nb
NNBb | NNbb [NaBb | Nnbb
Nabb [Nnbb | nnBb |nnbb

8. Using the Punnett Square in question #7:

a.

What is the probability of producing a wolf
with a normal coat color and brown eyes?

3/8

Possible genotypes from this cross?
N N B b b N n 3 b

What is the probability of producing a wolf
with a normal coat color and blue eyes?
3/®

Possible genotypes from this cross?

NNbb ., Nnbb

What is the probability of producing a wolf
with a black coat and brown eyes?
'/®

Possible genotypes from this cross?
nn

What is the probability of producing a wolf
wi‘t; a black coat and blue eyes?
8

Possible genotypes from this cross?
nnbb




